SIA 4 458 2023%9H308

SCERILSZ IR (R HAS)
FA4 (ILBEZEPA0HA) (2022.10.1~2023. 9.30)4R - ZIREE

LA DFE
HEE
144 (RHE4) WENO. 2] kS THE R R fii &
1 SRR 1000*180%& 185,000 180,000 5,000
2 ST 179x250 46,250 44,750 1,500
3 BB HEE BRRAHRIRT— ME - F v TRERRIERAHIR15000%2 30,000 30,000 0
4
5 REWERD AV IY—XEZF— (TM) 12/3EX.L%F 24,000 0 24,000
6 REFHERD AVAZP9—XEIF— (SB)12/12EX.HHK 20,000 10,000 10,000
7 RBHHERG AP PS99—XEZF— (AP#1) 12/13EX.BX 40,000 43,000 -3,000
8 =BHHER® ADAPS99—XEZF— (AP#2) 12/18EX.AE 40,000 16,000 24,000
9 =BIHER® ADAPS99—XEIF— (AP#3)1/22EX.BA 40,000 24,000 16,000
10} RBIHESO® Ny Thy bU—tZF— 2/20 H#F =F 40,000 21,000 19,000
11 RBHERD BITUDIEBEEIF— 3/2EX.ARK 40,000 25,000 15,000
12 LEHERE® MREEIF— BRAREHETA B2 30,000 37,000 -7,000
13 LEHERO gesr— 7R DUa>uL 40,000 0 40,000
14
15 Z O gD Dk 80,000 0 80,000
16 ZDMHFHED HHie I —t% 22,500 0 22,500
17
18 BRI $HH L FIE 1 1 0
19 0
20 4388 (39HR) #&diE 0 172,043 -172,043
21 0
AEE (A) 677,751 602,794
K DHS
144 (RHE4) 2] ES TR R R fii &
22 2BHERO AVALZ99—-XEIF— (TM) 12/3EX. L 33,500 0 33,500
23 2EFERO AVALZP9—XEIF— (SB)12/12EX.HHK 20,000 15,000 5,000
24 SBMER® AVAS99—XEIF— (AP#1) 12/13EX.BK 28,500 26,556 1,944
25 KBMEROQ AVAPF99—XEIF— (AP#2) 12/18EX.AE 31,500 16,000 15,500
26 KAHERG A VAT IY—REIF— (AP#3)1/22EX.BA 32,000 23,500 8,500
27 2EHERG BITIIDIRBHEEIF— 3/2EX.A% 25,500 20,330 5,170
28 2EHHERD Ny TAYRU—EZF— 2/20 @t =F 30,000 21,900 8,100
29 LEHERE® MREEIF— BRAREHETA B2 13,000 35,140 -22,140
30 LEHERO gesr— 7R U1 uL 35,000 0 35,000
31
32 Z O gD Dk 80,000 0 80,000
33 Z OIS it 3 —t% 22,500 0 22,500
34
35 —_— FHEE R, 2t 120,000 120,000 0
36) FE M |HE - HPER (U—/ () & 24,000 5,522 18,478
37, BEES 3 MRS - IRERE 50,000 124,640 -74,640
38 EIEEN NEWSHX - BREHEEHE) - XRaE 40,000 16,646 23,354
39 PRI ST 40,000 41,850 -1,850
R s O 3,000 4,240 1,240
41 7Y T -k 25,000 21,250 3,750
42, Tt 24,251 0 24,251
43 SRk 0 0 0
44 A 0 0 0
XEadEt (B) 677,751 492,574 185,177
7% (A) — (B) 0 110,220
AdpdesE (1 - MBERS) #HY &
¥ % PR 1%
WERTHY &
2 RIERHY 4
AEED & (C) 0
W (A) — (B) 110,220
AEFEY 4 (C) 0
sedierit (A) — (B) — (C) 110,220
R 63878 Wk 46342 110220

0



